
AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2012
CLASS : VII

Time : 2 Hours / a]Ì̂  f 2 H³Oôç Full Marks / ]ÇPö X¶‘ö» / å]ç»Oô X¶‘öÌ[ý f (25+25+25+25)=100

General Knowledge / açWýç»S pûçX / açWýç»Ì[ýS pûçX

1. The planet that moves fastest around the sun is .....................
aÉ̂ ïî» $Jôç×»CZõçã_ %ç$Oôç+TöêEõ VÐÓTöã[ýãG HÉ»ç GÐc÷ä$Oôç c÷_ .............................* / aÉã ï̂Ì[ý »Jôç×Ì[ý×VãEõ ..................... GÐc÷ a[ý»Jôç+ãTö VÐÓTöå[ýãG HÇãÌ[ý*
(a) Mercury (b) Venus (c) Jupiter (d) Mars

[ýÇWý £yÔ [ýÊc÷&×Tö $Jô³VÐ

2. During the population census in an Indian state, whose name is registered first ?
\öç»TöÝÌ̂  å_çEõ×YÌ̂ _ Eõ»ç» a]Ì̂ Tö \öç»Tö» »çLî a]Éc÷Tö Eõç» Xç] YÒUã] Y×tÌ̂ S Eõ»ç c÷Ì̂  ?
å_çEõGSXçÌ[ý a]Ì̂  \öçÌ[ýãTöÌ[ý Ì[ýçLîm×_ãTö Eõçc÷çÌ[ý Xç] YÒUã] YtÝÌ̂ X EõÌ[ýç c÷Ì̂  ?
(a) The senior most person (b) The Governor

[ýãÌ̂ çãLœö [ýîç×Nþ »çLîYç_ / Ì[ýçLîYç_
(c) The Chief Minister (d) None of them

]ÇFî]Ü—öÝ A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

3. The National Rural Employment Guarantee Scheme is named after .....................
»çrÑôÝÌ̂  GÐç]î å»çLGç» ×X¸JôÌ̂ Töç %çg$Jô×XFX Eõç» Xçã]ã» Xç]çEõ»S Eõ»ç éc÷ä$K÷ ?
Ì[ýçrÑôÝÌ̂  GÐç]î åÌ[ýçLGçÌ[ý ×X¸JôÌ̂ Töç Y×Ì[ýEõ”Xç EõçÌ[ý Xçã] Xç]çEõÌ[ýS EõÌ[ýç c÷Ì̂  ?
(a) Mahatma Gandhi (b) Indira Gandhi (c) Jawaharlal Nehru (d) Lal Bahadur Shastri

]c÷ç±Áç GçµùÝ +×³V»ç GçµùÝ L¾çc÷»_ç_ åXc÷»Ó _ç_ [ýçc÷çVÇ» `çØ—öÝ
]c÷ç±Áç GçµùÝ +×³VÌ[ýç GçµùÝ LCc÷Ì[ý_ç_ åXc÷Ì[ýÓ _ç_ [ýçc÷çVÇÌ[ý `çØ—öÝ

4. Three figures are alike in some way while one figure is different from others. Find this odd figure out.
Tö_Tö =ä{F Eõ»ç ×Tö×X$Oôç ×$Jôy ×^ãEõçãXç YÒEõçã» AãEõ* ^×V Töçã» A$Oôç YÊUEõ c÷Ì̂  åTöãÜ™ö %×]_ä$Oôç [ýç×$K÷ =×_C¾ç f
XÝä»Jô åVCÌ̂ ç ×TöX×»Oô ×»Jôy å^ åEõçX YÒEõçãÌ[ý AEõ+ \öçã[ý %çäK÷* ^×V +c÷çÌ[ý AEõ×»Oô YÊUEõ c÷Ì̂  Töã[ý %×]_×»Oô å[ýä»K÷ XçC*

(a) (b) (c) (d)

5. The oldest mountain system in India is
\öç»Tö» %ç$Oôç+TöêEõ YÇ»×S Y[ýïTö`ÊeF_ç ×Eõ ? / \öçÌ[ýãTöÌ[ý a[ý»Jôç+ãTö YÇÌ[ýçTöX Y[ýïTö`ÊeF_ç .................................*
(a) Aravallis (b) Satpura (c) Shiwaliks (d) Vindhyas

%ç»ç¾_Ý / %çÌ[ýç[ý_Ý açTöYÉ»ç / açTöYÇÌ[ýç ×`¾ç×_Eõ / ×`[ýç×_Eõ ×[ýµùî

6. Pointing to a photograph Reema said 'she is the only grand daughter of my grandmother's
daughter'. How is the girl in the photograph related to Reema ?
Zõä$Oôç FXTö åVFÇ¾ç+ »Ý]ç+ Eõã_ Töç+ å]ç» %ç+Töç» AEõ]çy LÝãÌ̂ Eõ» AEõ]çy Xç×TöXÝ* Zõä$OôçFXTö UEõç æ$K÷ç¾ç_ÝLXÝ »Ý]ç»
_GTö ×Eõ a¶YEïõ c÷[ý ?
Zõä»Oôç×»Oô åV×FãÌ^ Ì[ýÝ]ç [ýã_, "C %ç]çÌ[ý ×V×V]çÌ[ý AEõ]çy EõXîçÌ[ý AEõ]çy XçTöXÝ'* Zõä»Oôç×»Oôæ»Oô UçEõç å]ãÌ^×»Oô Ì[ýÝ]çÌ[ý a¶YåEïõ ×Eõ ?
(a) Sister (b) Niece (c) Aunt (d) Reema

\öXÝãÌ̂ Eõ / å[ýçX \öç×GX / \öçGÂÝ FÇ»Ý/]çc÷Ý EõçEõÝ/]çaÝ »Ý]ç/ Ì[ýÝ]ç
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7. Turpentine is obtained from ..........

Töç»×YXãTö_ ×Eõc÷» Y»ç %çc÷»S Eõ»ç c÷Ì̂  ?
Töç×YïX åTö_ ........................ åUãEõ %çc÷Ì[ýS EõÌ[ýç c÷Ì̂ *
(a) Teak (b) Pine (c) Mahogany (d) Banyan

æ$JômS / åamS a»_G$K÷ / aÌ[ý_ Gç»K÷ å]$c÷GXÝ [ý$Oô G$K÷ / [ý»OôGç»K÷

8. Find out the incorrect one :
%ç£ˆùä$Oôç ×[ý$Jôç×» =×_C¾ç f
%£ˆù×»Oô [ýç×c÷Ì[ý EõÌ[ý f
(a) Jawaharlal Nehru - Shantiban (b) Indira Gandhi - Shakti Sthal

L¾çc÷»_ç_ åXc÷»Ó - `ç×Ü™ö[ýX +×³V»ç GçµùÝ - `×NþØšö_
LCc÷Ì[ý_ç_ åXc÷Ì[ýÓ - `ç×Ü™ö[ýX +×³VÌ[ýç GçµùÝ - `×NþØšö_

(c) Lal Bahadur Shastri - Vijay Ghat (d) Rajib Gandhi - Mukti Sthal
_ç_ [ýçc÷çVÇ» `çØ—öÝ - ×[ýLÌ̂ Hç$Oô »çLÝ[ý GçµùÝ - ]Ç×NþØšö_
_ç_[ýçc÷çVÇÌ[ý `çØ—öÝ - ×[ýLÌ̂ Hç$Oô Ì[ýçLÝ[ý GçµùÝ - ]Ç×NþØšö_

9. 'Sukafa Award, 2011' was awarded to
2011 $JôXTö $JÇôEõçZõç [ýg$Oôç EõçEõ ×VÌ̂ ç éc÷×$K÷_ ?
2011 aãXÌ[ý "aÇEõçZõç YÇÌ[ý•õçÌ[ý' ................................ åEõ åVCÌ̂ ç c÷Ì̂ *
(a) Dr. Bhupen Hazarika (b) Dr. Mamoni Roisom  (c) Dr. Tabu Taid    (d) Dr. Hiren Gohain

Qö0 \ÉöãYX c÷çL×»Eõç      Qö0 ]ç]×S »Ì̂ $Jô]       Qö0 $Oôç[ýÇ $Oôç+Qö Qö0 ×c÷ã»S åGgçc÷ç+
Qö0 \ÉöãYX c÷çLç×Ì[ýEõç      Qö0 ]ç]×X Ì[ýÌ̂ »a]       Qö0 »Oôç[ýÇ »Oôç+Qö Q0 ×c÷ãÌ[ýX åGçc÷ç+

10. 'Horizon', a saturday special supplement, comes with ...................
'Horizon' [ýÇ×_ `×S[ý»ÝÌ̂ ç ×[ýã`b aeã^çLX åEõçX EõçEõTö» _GTö C_çÌ̂  ?
'Horizon' `×X[ýçãÌ[ýÌ[ý AEõ ×[ýã`b aeã^çLX .................. éV×XEõ Y×ÅyEõçÌ[ý açãU YÒEõç×`Tö c÷Ì̂ *
(a) The Telegraph (b) The Assam Tribune

×V æ$Oô×_GÐçZõ ×V %ç$Jôç] ×®Ïô[ýÇX / ×V %çaç] ×®Ïô×[ý=X
(c) The Sentinel (d) The Eastern Chronicle

×V æ»Jô×³OôãX_ / ×V åa×³OôãX_ ×V +rôçSï yÔ×SEõ_

11. The city that celebrates its centenary year as capital city...................
Tö_» åEõçXFX XG»ÝãÌ̂  »çLWýçXÝ XG»Ý» `Tö[ýç×bïEõÝ =da¾ Yç_X Eõ×»ä$K÷ ?
................................... XGÌ[ý Ì[ýçLWýçXÝ XGÌ[ý ×c÷açã[ý ̀ Tö[ýç×bïEõÝ =da[ý Yç_X Eõ×Ì[ýãTöä»K÷*
(a) Athens (b) Delhi (c) Paris (d) Beijing

AãU³a ×V{Ý åY×»$Jô / Yîç×Ì[ýa å[ý+×Le

12. 'Right to Education' Act makes children's education mandatory for the age group .............
×`lùç» %×WýEõç» %ç+ãX ×Eõ]çX [ý$K÷»» Y»ç ×Eõ]çX [ý$K÷»» ×`£aEõ_» ×`lùç [ýçWýîTöç]É_Eõ Eõ×»ä$K÷ ?
×`lùçÌ[ý %×WýEõçÌ[ý %ç+X ................................. [ýÌ̂ a GÐÓãYÌ[ý ×`£ãVÌ[ý LXî ×`lùç [ýçWýîTöç]É_Eõ EõãÌ[ýä»K÷*
(a) 5 to 10 Years (b) 6 to 12 Years (c) 6 to 14 Years (d) 5 to 12 Years

5 [ý$K÷»» Y»ç 10 [ý$K÷»ê_ 6 [ý$K÷»» Y»ç 12 [ý$K÷»ê_ 6 [ý$K÷»» Y»ç 14 [ý$K÷»ê_ 5 [ý$K÷»» Y»ç 12 [ý$K÷»ê_
5 åUãEõ 10 [ý»K÷Ì[ý [ý ï̂Ü™ö 6 åUãEõ 12 [ý»K÷Ì[ý [ý ï̂Ü™ö 6 åUãEõ 14 [ý»K÷Ì[ý [ý ï̂Ü™ö 5 åUãEõ 12 [ý»K÷Ì[ý [ý ï̂Ü™ö
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13. He scored 115 runs at Notingham, 148 at Lords, 217 at the Oval and 100 in Mumbai
consecutively. Who is the cricketer ?
åTöCg X×$Oôec÷ç]Tö 115, _Qïö$JôTö 148, Cã\ö_Tö 217 %ç»Ó ]Ç¶‘öç+Tö 100 »çX AãEõ»çãc÷ Eõ×»×$K÷_ ×yÔãEõ$Oôç» LX c÷_ ?
=×X X×»Oôec÷çã] 115, _Qïöãa 148, C\öçã_ 217 A[ýe ]Ç¶‘öç+ãÌ̂  100 Ì[ýçX YÌ[ýYÌ[ý EõãÌ[ýX* ×yÔãEõ»OôçÌ[ý×»Oô åEõ ?
(a) Rahul Dravid (b) Sachin Tendulkar (c) Adam Gilchrist (d) Andrew Flintop

»ç§_ VÐç×[ýQö `$JôÝX æ$Oô‰Çø_Eõ» %çVç]×G_×yÔrô AX×QÎö= ×nõ³OôY
Ì[ýç§_ VÐç×[ýQÍö `»JôÝX åTö³QÇö_EõçÌ[ý AQöç] ×G_×yÔrô AX×QÎö= ×nõ³OôY

14. Between India and Sri Lanka lies .......................
\öç»Tö %ç»Ó `ÒÝ_eEõç» ]çLTö ×Eõ YÒSç_Ý ?
\öçÌ[ýTö A[ýe ̀ ÒÝ_eEõçÌ[ý ]ãWýî %çä»K÷ ........................... YÒSç_Ý*
(a) The Suez canal (b) The strait of Gibraltar (c) The strait of Mahellan  (d) The Palk Strait

$JÇôãÌ̂ L Fç_ ×L[ýÐç·Oô» YÒSç_Ýõ   ]çãc÷_çX YÒSç_Ý  YEËõ YÒSç_Ý
aÇãÌ̂ L Fç_ ×L[ýÐç·OôÌ[ý YÒSç_Ý    ]çãc÷_çX YÒSç_Ý  YEËõ YÒSç_Ý

15. The festival that the Sikhs were celebrating at Jallianwala Bagh when the 1919 massacre
happened was ................
1919 $JôXTö Lç×_¾çX¾ç_ç[ýçGTö åc÷ç¾ç c÷TöîçEõç‰ø» a]Ì̂ Tö ×`F aEõã_ ×Eõ =da¾ Yç_X Eõ×» %ç×$K÷_ ?
1919 aãX Lç×_Ì̂ çXCÌ̂ ç_ç[ýçG c÷TöîçEõçã‰øÌ[ý a]Ì̂  ×`FÌ[ýç ....................... =da[ý Yç_X EõÌ[ý×»K÷_*
(a) Chhath (b) Raksha Bandhan (c) Baishakhi (d) Holi

$Jô$Oô / K÷Oô »lùç [ýµùX / Ì[ýlùç [ýµùX é[ý`çFÝ åc÷ç_Ý / åc÷ç×_

16. Find the dissimilar one :
×[ýaVỀ ä$Oôç [ýç×$Jô =×_C¾ç / %×]_×»Oô [ýç×c÷Ì[ý EõÌ[ý f

(a) (b) (c) (d)

17. The meaningful English words that can be formed with the letters TPO using each letter only
once in each word .......................
TPO %çF» åEõ+$Oôç A[ýçã»+ A$Oôç `ŒTö [ýî¾c÷ç» Eõ×» ×Eõ]çX$Oôç %UïYÇSï +e»çLÝ `Œ GPöS Eõ×»[ý Yç×» ?
TPO %lùÌ[ým×_ AEõ[ýçÌ[ý [ýî[ýc÷çÌ[ý EõãÌ[ý EõÌ̂ ×»Oô %UïYÉSï +eÌ[ýçLÝ `Œ [ýçXçãXç ^çÌ̂  ?
(a) One (b) Two (c) Three (d) None

A$Oôç / AEõ×»Oô VÇ$Oôç / VÇ×Oô ×Tö×X$Oôç / ×TöX×»Oô   A$OôçC åXç¾ç×» / AEõ×»OôC XÌ̂

18. The Prime Minister of India is
\öç»Tö» YÒWýçX]Ü—öÝ LX ................................... c÷Ì̂ *
\öçÌ[ýãTöÌ[ý YÒWýçX]Ü—öÝãEõ ........................ c÷Ì̂ *
(a) Elected (b) Appointed (c) Nominated (d) Selected

×X[ýïç×$JôTö ×X Ç̂×Nþ YÒçŠ ]ãXçXÝTö [ýç×$K÷ã_ç¾ç / å[ýä»K÷ åXCÌ̂ ç
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19. 'India Wins Freedom' is the autobiography of .........................
"+×‰øÌ̂ ç =+X$Jô ZÐõÝQö]' åEõçãX ×_×F×$K÷_ ?
"+×‰øÌ̂ ç =+X$Jô ZÐõÝQö]' åEõ ×_ãF×$K÷ã_X ?
(a) Abul Kalam Azad (b) Muhammad Ali (c) Zakir Hussain (d) Syed Ahmed Khan

%ç[ýÇ_ Eõç_ç] %çLçV ]Çc÷ç¶ö‚V %ç_Ý Lç×Eõ» §ä$K÷+X è$K÷Ì̂ V %çc÷ã]V FçX
%ç[ýÇ_ Eõç_ç] %çLçV å]çc÷ç¶ö‚V %ç_Ý Lç×EõÌ[ý §ä»a+X éaÌ̂ V %çc÷ã]V FçX

20. L.D. Mittal is the chairman of ............................
_©¿Ý ×]wø_ åEõçX åEõç¶YçXÝ» æ$JôÌ̂ ç»ã]X ?
_©¿Ý ×]wø_ ............................. åEõç¶YçXÝÌ[ý æ»JôÌ̂ çÌ[ýã]X*
(a) Bharat Enterprise (b) Walmart India (c) Internal Tractors (d) ACC cement

\öç»Tö A³Oôç»YÒç+L ¾ç_]ç$OôÛ +×‰øÌ̂ ç +³Oôç»ãX_ æ®Ïôkô» ACC ×$Jôã]³Oô
\öçÌ[ýTö A³OôçÌ[ýYÒç+L CÌ̂ ç_]ç»OôÛ +×‰øÌ̂ ç +³OôçÌ[ýãX_ æ®ÏôkôÌ[ý ACC ×aã]³Oô

21. Name the movie in which Amitab Bacchan played a triple role.
åEõçXFX $K÷×[ýTö %×]Töç\ö [ý¬K÷ãX ×Tö×X$Oôç $Jô×»yTö %×\öXÌ̂  Eõ×»ä$K÷ ?
%×]Töç\ö [ý¬JôX ............................ »K÷×[ýãTö ×TöX×»Oô »Jô×Ì[ýäy %×\öXÌ̂  EõãÌ[ýX*
(a) Mahaan (b) Kasauti (c) Abhiman (d) Raste Ke Pathar

]c÷çX Eõä$Jôì$OôÝ %×\ö]çX »çäØ™ö ×Eõ YçU»
]c÷çX Eõãaç×»Oô %×\ö]çX Ì[ýçäØ™ö ×Eõ YçUÌ[ý

22. The language spoken by the greatest numbers of people in the world is ................
YÊ×U¾ÝTö a[ýïç×WýEõ ]çXÇãc÷ [ýî¾c÷ç» Eõ»ç \öçbç c÷_ ...............................*
YÊ×U[ýÝÌ[ý a[ý»Jôç+ãTö å[ý`Ý å_çEõ ................................... \öçbçÌ̂  EõUç [ýã_*
(a) English (b) French (c) Arabic (d) Mandarin

+e»çLÝ / +eÌ[ýçLÝ Zõ»çJôÝ / ZõÌ[ýçaÝ %ç»[ýÝ / %çÌ[ý[ýÝ ]ç³Vç×»X / ]ç³Vç×Ì[ýX

23. The biggest enterprise of the govt of India is.............
\öç»Tö $Jô»Eõç»» %ç$Oôç+TöêEõ [ýÊc÷d YÒ×TöœöçX c÷_ .................*
\öçÌ[ýTöÝÌ̂  aÌ[ýEõçãÌ[ýÌ[ý a[ý»Jôç+ãTö [ýÊc÷d YÒ×TörôçX .........................*
(a) Posts and Telegraph (b) Railway (c) Banking (d) Shipping

QöçEõ-Töçg» ×[ý\öçG   å»_ åa¾ç å[ýeEõ åa¾ç Lçc÷çL åa¾ç
QöçEõ-TöçgÌ[ý ×[ý\öçG   åÌ[ý_ åa[ýç [ýîçáø åa[ýç Lçc÷çL åa[ýç

24. The Indian Air Force has changed its formal colour 'Blue' to...........
\öç»TöÝÌ̂  [ýçÌ̂ Ç åaXç» YÇ[ýï» XÝ_ç» a_×X ×Eõ »Iø [ýî¾c÷ç» Eõã» ?
\öçÌ[ýTöÝÌ̂  [ýçÌ̂ ÇãaXç ×XÌ̂ ]]ç×ZõEõ XÝ_ Ì[ýã†Ì[ý [ýVã_ ................................. Ì[ýIø [ýî[ýc÷çÌ[ý EõÌ[ýã»K÷*
(a) White (b) Light Grey (c) Green (d) Yellow

[ýGç YçTö_ åG»Ó¾ç åa=LÝÌ^ç c÷ç_WýÝÌ̂ ç
açVç YçTö_ç WýÉaÌ[ý a[ýÇL c÷_ÇWý
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25. Identify the personality who was credited with the invention of iPod, iPhone & iPad.
Tö_» åEõçXLX [ýî×NþãÌ̂  iPod, iPhone & iPad %ç×¾•õç» Eõ×»×$K÷_ ?
XÝä»JôÌ[ý åEõçX [ýî×Nþ±¼ö iPod, iPhone & iPad AÌ[ý %ç×[ý•õçÌ[ýEõ ?

(a) (b) (c) (d)

General English

26. Our class  visited a toy manufacturing factory to learn how toys ......... made and assembled.
(a) Is (b) are (c) was (d) were

27. I  intend to ............ my uncle  a  visit  this  Bihu.
(a) Give (b) pay (c) have (d) call

28. The family will take sometime to get ............ the death of their grandmother.
(a) Through (b) on (c) off d) over

29. Could you tell me ............
(a) where is she gone ? (b) where she is gone
(c) where was she gone ? (d) where gone is she ?

30. I'll have to get my T.V. fixed as I am having ............ problems with it.
(a) no (b) much (c) some (d) any

31. I usually ............ Jeans and T-shirt when I travel.
(a) Wear (b) put on (c) have (d) take

32. Travelling by air is not cheap. And it is not safe.............
(a) Also (b) too (c) neither d) either

33. You ought to get married, now ............ you are employed.
(a) Since (b) for (c) because of (d) that.

34. "Sonal  has been awarded a scholarship to study in the U.S.A." "Oh, really? ............"
(a) What a lucky she is ! (b)  how lucky she is !
(c) Lucky she is ! (d) Why, she is lucky ?
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35 The cake tastes ............
(a) Well (b) good (c) sweetly (d) burnt

36. The small dictionary ............ 75,000 words.
(a) consists (b) comprises (c) makes (d) uses

37. I'll come to see you before I ............ India.
(a) leave (b) will leave (c) shall leave (d) left

38. Nita is the ............. child and she has to set a good example for her sisters.
(a) eldest (b) oldest (c) older (d) elder

39. The witness saw the robber ............ at the bank security guards.
(a) shoot (b) shooting (c) shot (d) was shooting

40. Neither you nor I ............ going to India next month.
(a) am (b) are (c) is (d) was

41. We have never seen anyone ............ with such agility and grace.
(a) dance (b) danced (c) dances (d) dancing

42. That pair of ear rings ............ given to me by my sister.
(a) is (b) are (c) was (d) were

43. Just before the exam results were announced, everyone of us was very ............
(a) uptight (b) worried (c) tensed (d) sicked

44. The big ............ is beating up small children in the lower classes again.
(a) bluff (b) boss (c) bully (d) coward

45. The prisoner made an abortive attempt to escape from the jail.  "abortive"  means ............
(a) successful (b) illegal (c) futile (d) secret

46. Acts of vandalism in the school campus can not be tolerated. "Vandalism" means
(a) ragging (b) late-coming (c) disturbance (d) violence

47. Wood is opaque but glass is ............ (Choose the word opposite in meaning to the bold word.)
(a) Soft (b) transparent (c) hard (d) smooth

48. His attitude is very hostile. The opposite of " hostile" is ............
(a) kind (b) friendly (c) helpful (d) aggressive
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49. That joke really broke the ice at the meeting. We all relaxed afterwards. The meaning of the
idiom in bold italics is ............
(a) Coca-cola with ice was served (b) the joke made everybody angry
(c) the joke removed tension at the meeting (d) the  joke abruptly ended the meting

50. Varsha has been burning midnight oil lately; I guess she has a big exam coming up. The
meaning of the idiom in bold italics is ............
(a) Performing  puja at night. (b) Getting the lantern ready
(c) Staying awake late at night to study (d) sleeping all night

General Maths / açWýç»S G×STö / açWýç»Ì[ýS G×STö

51. Which of the following is in descending order ?
Tö_» åEõçXä$Oôç %WýfyÔ]Tö %çä$K÷ ?
XÝä»JôÌ[ý åEõçX×»Oô %WýfyÔã] %çä»K÷ ?
(a) 3 11 42

4 20 5


   


(b) 3 11 4 2
4 20 5


   


(c) 3 4 112

4 5 20


   


(d) 3 4 11 2
4 5 20


   


52. The sum of the additive inverse and multiplicative inverse of 2 is...........
2 » å^çGç±ÁEõ ×[ýY»ÝTö aeFîç %ç»Ó mSç±ÁEõ ×[ýY»ÝTö aeFîç» å^çGZõ_ ...........................................
2 AÌ[ý å^çGç±ÁEõ ×[ýYÌ[ýÝTö aeFîç A[ýe mSç±ÁEõ ×[ýYÌ[ýÝTö aeFîçÌ[ý å^çGZõ_ .................

(a) 3
2 (b) 3

2
 (c) 1

2 (d) 1
2


53. What should be placed in the empty space, so that sum of the fractions on each side of the
triangle is same ?
Fç_Ý Pöç+Tö ×Eõ \öGÂçe` [ý§¾çã_ ×Åy\ÉöLä$Oôç» YÒ×Töä$Oôç [ýç§» \öGÂçe`» å^çGZõ_ a]çX c÷[ý ?
`ÉSîØšöçãX ×Eõ \öGÂçe` [ýaç+ã_ ×Åy\ÇöL×OôÌ[ý YÒ×Tö×»Oô [ýç§Ì[ý \öGÂçeå`Ì[ý å^çGZõ_ a]çX c÷ã[ý ?

1
15

4
15

5
15

2
15

? 5
15

(a) 7
15 (b) 9

15 (c) 6
15 (d) 8

15

54. 0.1 0.01 0.001 ...........................
0.01 0.1 0.01

  

(a) 10.12 (b) 1.22 (c) 10.2 (d) 10.02
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55. 20 years ago, when my parents got married, their average age was 23 years, now the average
age of my family, consisting of myself and my parents is 34 years. My present age is ...... years.
20 [ý$K÷» %çGãTö, å^×TöÌ̂ ç å]ç» ×YTÊö-]çTÊö» ×[ý[ýçc÷ éc÷×$K÷_, åTö×TöÌ̂ ç åTöCgã_çEõ» GQÍö [ýÌ̂ a %ç×$K÷_ 23 [ý$K÷»* [ýwïø]çX å]çEõ
%ç»Ó å]ç» ×YTÊö-]çTÊöEõê_ å]ç» Y×»Ì̂ ç_» GQÍö [ýÌ̂ a 34 [ý$K÷» c÷ã_, å]ç» [ýwïø]çX [ýÌ̂ a ............................. [ý$K÷»
20 [ý»K÷Ì[ý YÉã[ýï %ç]çÌ[ý ]ç-[ýç[ýçÌ[ý ×[ýãÌ̂ Ì[ý a]Ì̂  Töçc÷çãVÌ[ý [ýÌ̂ ãaÌ[ý GQÍö 23 [ý»K÷Ì[ý ×»K÷_* [ýTöÛ]çãX %ç×] A[ýe %ç]çÌ[ý ]ç-[ýç[ýçãEõ ×XãÌ̂
%ç]çãVÌ[ý Y×Ì[ý[ýçãÌ[ýÌ[ý [ýÌ̂ ãaÌ[ý GQÍö 34 [ý»K÷Ì[ý c÷ã_, %ç]çÌ[ý [ýTöÛ]çX [ýÌ̂ a ................... [ý»K÷Ì[ý*
(a) 34 (b) 42 (c) 16 (d) None

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

56. If two-thirds, one half and one seventh of a number is added to itself, the result is 37. Find the number.
A$Oôç aeFîç» VÇ+-TÊöTöÝÌ^çe`, %Wýïçe` %ç»Ó AEõ aŠ]çe` aeFîçä$Oôç» _GTö å^çG Eõ×»ã_ å^çGZõ_ 37 c÷Ì^* aeFîçä$Oôç =×_C¾ç*
AEõ×»Oô aeFîçÌ[ý VÇ+-TÊöTöÝÌ̂ çe`, %Wýïçe` A[ýe AEõ aŠ]çe` aeFîç×»OôÌ[ý a×c÷Tö å^çG Eõ×Ì[ýã_ å^çGZõ_ 37 c÷Ì̂ * aeFîç×»Oô
c÷_ ................................................
(a) 214

97 (b) 216
97 (c) 218

97 (d) None
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

57. If 2a b   then 2 2 4a b   in terms of b is ...................
^×V 2a b   c÷Ì̂ , åTöãÜ™ö 2 2 4a b   Eõ b Tö YÒEõç` Eõ»ç*
^×V 2a b   c÷Ì̂ , Töã[ý 2 2 4a b   åEõ b åTö YÒEõç` EõÌ[ý*
(a) 2 6 4b b  (b) 2 4b b (c) 2 6b b (d) 2 6 4b b 

58. In the given figure, EF||AD and ED||AC. If BF=4 cm, FD=6 cm and BF=8 cm, then BC=..........
YÒVwø ×$Jôy» EF||AD %ç»Ó ED||AC, ^×V BF=4 æ$K÷.×]., FD=6 æ$K÷.×]. %ç»Ó BF=8 æ$K÷.×]. c÷Ì̂ , åTöãX BC= ...........................
YÒVwø ×»Jôäy EF||AD A[ýe ED||AC, ^×V BF=4 cm, FD=6 cm A[ýe BF=8 cm c÷Ì̂ , Töã[ý BC= ...........................

A

B CD

E

F

(a) 12cm (æ$K÷.×]./åa.×].) (b) 15cm (æ$K÷.×]./åa.×].) (c) 25cm (æ$K÷.×]./åa.×].) (d) None
A$OôçC Xc÷Ì̂  /AEõ×OôC XÌ̂

59. If lines AB, AC, AD and AE are parallel to a line l, then .........................
^×V AB, AC, AD %ç»Ó AE å»Fç l » a]çÜ™ö»ç_ c÷Ì̂ , åTöãÜ™ö ............................
^×V AB, AC, AD A[ýe AE åÌ[ýFç l AÌ[ý a]çÜ™öÌ[ýç_ c÷Ì̂ , Töã[ý ........................
(a) A,B,C,D,E are collinear points (b) A,B,C,D,E are non collinear points

A,B,C,D,E AãEõ å»FÝÌ̂  ×[ý³VÇ A,B,C,D,E AãEõ å»FÝÌ̂  ×[ý³VÇ Xc÷Ì̂
A,B,C,D,E a]ãÌ[ýFÝÌ̂  ×[ý³VÇ A,B,C,D,E a]ãÌ[ýFÝÌ̂  ×[ý³VÇ XÌ̂

(c) AB||AC and ADAE (d) None of these
AB||AC %ç»Ó ADAE A$OôçC Xc÷Ì̂
AB||AC A[ýe ADAE AEõ×»OôC XÌ̂
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60. A triangle always has ..........................

A$Oôç ×Åy\ÉöL» aVçÌ̂  ............................................
AEõ×»Oô ×Åy\ÇöãLÌ[ý a[ýïVç ...............................
(a) exactly one acute angle (b) exactly two acute angles

aÉ©¿ãEõçS A$Oôç UçãEõ VÇ$Oôç aÉ©¿ãEõçS UçãEõ
AEõ×»Oô aÉ©¿ãEõçS UçãEõ VÇ×»Oô aÉ©¿ãEõçS UçãEõ

(c) at least two acute angles (d) None of these
%×Tö Eõã]C VÇ$Oôç aÉ©¿ãEõçS UçãEõ A$OôçC Xc÷Ì̂
Eõ]Yãlù VÇ×»Oô aÉ©¿ãEõçS UçãEõ AEõ×»OôC XÌ̂

61. In a ABC, if AB+BC=10 cm, BC+CA=12 cm, CA+AB=16 cm, then the perimeter of the
triangle is .........................
ABC» ålùyTö, ^×V AB+BC=10 æ$K÷.×]. BC+CA=12 æ$K÷.×]., CA+AB=16 æ$K÷.×]. c÷Ì̂ * åTöãÜ™ö ×Åy\ÉöLä$Oôç» Y×»aÝ]ç
c÷[ý ....................................
ABC åTö ^×V AB+BC=10 åa.×]., BC+CA=12 åa.×]. CA+AB=16 åa.×]. c÷Ì̂ , Töã[ý ×Åy\ÇöL×»OôÌ[ý Y×Ì[ýaÝ]ç c÷ã[ý ...................
(a) 19 cm (æ$K÷.×]./åa.×].) (b) 17 cm (æ$K÷.×]./åa.×].) (c) 38 cm (æ$K÷.×]./åa.×].) (d) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

62. In the figure given below, find Z.
Tö_Tö ×VÌ̂ ç ×$Jôy» Y»ç Z» ]çX ×XSïÌ̂  Eõ»ç*
XÝä»JôÌ[ý åVCÌ̂ ç ×»Jôäy Z AÌ[ý ]çX ×XSïÌ̂  EõÌ[ý*

A

B C E)

)

)250

)X0

Z0 Y0

D
1100

(a) 400 (b) 1100 (c) 450 (d) None of these
A$OôçC Xc÷Ì̂ /AEõ×»OôC XÌ̂

63. If 'a' is x% more than 'b' and 'b' is y% less than 'a'. Then the relation between x and y is ..........
^×V a æ$Oôç b TöêEõ x% å[ý×$K÷ %ç»Ó b æ$Oôç a TöêEõ y% Eõ] c÷Ì̂ , åTöãÜ™ö x %ç»Ó y » ]çL» a¶‘öµùä$Oôç ................................*
^×V b åUãEõ a x% å[ý`Ý A[ýe a åUãEõ b y% Eõ] c÷Ì̂  Töã[ý x A[ýe y AÌ[ý ]ãWýî a¶‘öµù×»Oô ×Eõ ?

(a)
1 1 1

100x y
  (b)

1 1 1
100y x

  (c)
1 1 100
x y
  (d) None

A$OôçC Xc÷Ì̂ /AEõ×»OôC XÌ̂
64. If x is the SI on y and y is the SI on z, the rate % and time being same in both cases, then the

relation between x, y and z is ..................
^×V y » a»_ aÇTö x %ç»Ó z » a»_ aÇTö y %ç»Ó =\öÌ̂  ålùyTö aÇTö» c÷ç» %ç»Ó a]Ì̂  AãEõ c÷Ì̂ , åTöãÜ™ö x, y %ç»Ó z »
]çL» a¶‘öµùä$Oôç .......................................
^×V yAÌ[ý aÌ[ý_ aÇV x A[ýe z AÌ[ý aÌ[ý_aÇV y c÷Ì̂  A[ýe =\öÌ̂  ålùäy aÇãVÌ[ý c÷çÌ[ý A[ýe a]Ì̂  AEõ+ c÷Ì̂ , Töã[ý x, y A[ýe z AÌ[ý
]ãWýîÌ[ý a¶‘öµù c÷ã[ý..........................
(a) 2x yz (b) 2y xz (c) 2z xy (d) 2x y z 
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65. If x,y,z be rational numbers such that x>y and z<y then ...........
^×V x,y,z Y×»ã]Ì̂  aeFîç, ̂ Tö x>y %ç»Ó z<y c÷Ì̂ , åTöãÜ™ö ..............................................
^×V x,y,z Y×Ì[ýã]Ì̂  aeFîç, x>y A[ýe z<y Töã[ý .......................
(a) z>x (b) z<x (c) y<z (d) y>x

66. The side of a rhombus is 26 m and length of one of its diagonal is 20 m. The area of the
rhombus is .........................
A$Oôç »¶‘öç$K÷» [ýç§» éVHïî 26 ×]$Oôç» %ç»Ó +Ì̂ ç» A$Oôç EõSï» éVHïî 20 ×]$Oôç» c÷ã_ »¶‘öç$K÷ä$Oôç» Eõç×_ ....................................*
AEõ×»Oô Ì[ý¶‘öçãaÌ[ý [ýç§Ì[ý éVHïî 26 ×]»OôçÌ[ý A[ýe +c÷çÌ[ý AEõ×»Oô EõãSïÌ[ý éVHïî 20 ×]»OôçÌ[ý c÷+ã_ Ì[ý¶‘öçãaÌ[ý Eõç×_ ......................*
(a) 120m2 (b) 240m2 (c) 480m2 (d) None of these

120 [ýGï ×]. 240 [ýGï ×]$. 480 [ýGï ×]. A$OôçC Xc÷Ì̂ /AEõ×»OôC XÌ̂

67. The product of ( 4 3
5
p
 ) and ( 5 6

8
p
 ) is .....................

( 4 3
5
p
 ) %ç»Ó ( 5 6

8
p
 ) » YÉ»SZõ_ ......................................

( 4 3
5
p
 ) A[ýe ( 5 6

8
p
 ) AÌ[ý YÉÌ[ýSZõ_ .......................

(a)
2 267 18

2 40
p

p  (b)
2 267 18

2 40
p

p  (c)
2 267 18

2 40
p p  (d)

2 267 18
2 40
p

p 

68. The value of 

11 ( )( )5
82

1 1( )4 ( )
2 4




 
 is .......................

11 ( )( )5
82

1 1( )4 ( )
2 4




 
 » (AÌ[ý) ]çX .............................

(a) 2 (b) 0 (c) 1 (d) -1

69. How many cubes are needed to make the solid below ?
Tö_» åGç$Oôç [ýØ™Çöä$Oôç [ýXç[ýê_ ×Eõ]çX$Oôç HXEõ» YÒãÌ̂ çLX ?
XÝä»JôÌ[ý ×»Jôy×»Oô [ýçXçãXçÌ[ý LXî EõÌ̂ ×»Oô HXãEõÌ[ý YÒãÌ̂ çLX ?

(a) 9 (b) 14 (c) 18 (d) 21
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70.
7 ............

10 3




(a) ( 10 3)2 (b) 7( 10 3)2 (c) 10 3 (d) None
A$OôçC Xc÷Ì̂  /AEõ×»OôC XÌ̂

71. If one angle is the average of the other two angles and the difference between the greatest
and least agnles is 600, then the formed triangle is ..................
×̂V A$Oôç åEõçS %çX VÇOôç åEõçS» GQÍö %ç»Ó %ç$Oôç+TöêEõ QöçIø» %ç»Ó %ç$Oôç+TöêEõ a»Ó åEõçS VÇ $Oôç» YçUïEõî 600 c÷Ì^, åTöãÜ™ö ×Åy\ÉöLä$Oôç............

^×V AEõ×»Oô åEõçS %Xî VÇ×»Oô åEõçãSÌ[ý GäQÍöÌ[ý a]çX A[ýe a[ý»Jôç+ãTö [ýQÍö A[ýe a[ý»Jôç+ãTö æ»K÷ç»Oô åEõçS VÇ×»OôÌ[ý YçUïEõî 600 c÷Ì̂ , Töã[ý
×Åy\ÇöL×»Oô................
(a) an isosceles triangle (b) an equilateral triangle

A$Oôç a]×ˆù[ýç§ ×Åy\ÉöL A$Oôç a][ýç§ ×Åy\ÉöL
AEõ×»Oô a]×ˆù[ýç§ ×Åy\ÇöL AEõ×»Oô a][ýç§ ×Åy\ÇöL

(c) a right angled triangle (d) a right angled isosceles triangle
A$Oôç a]ãEõçSÝ ×Åy\ÉöL A$Oôç a]ãEõçSÝ a]×ˆù[ýç§ ×Åy\ÉöL
AEõ×»Oô a]ãEõçSÝ ×Åy\ÇöL AEõ×»Oô a]ãEõçSÝ a]×ˆù[ýç§ ×Åy\ÇöL

72. If the radii of two concentric circles are 15 cm and 13 cm respectively, then the area of the
circulating ring in sq cm will be ..................
^×V VÇ$Oôç BEõãEõ³VÐÝEõ [ýÊwø» [ýîçaçWýï yÔã] 15 æ$K÷.×]. %ç»Ó $13 æ$K÷.×]. c÷Ì̂ , åTöãÜ™ö [ýÊwøçEõç» %çIø×Pöä$Oôç» Eõç×_ [ýGï æ$K÷.×]$Oôç»Tö .......c÷[ý*
^×V VÇ×»Oô BEõãEõ³VÐÝEõ [ýÊãwøÌ[ý [ýîçaçWýï yÔã] 15 åa.×]. C 13 åa.×]. c÷Ì̂ , Töã[ý [ýÊwøçEõçÌ[ý %çIø×»Oô×»OôÌ[ý Eõç×_ [ýGï åa×³Oô ×]»OôçãÌ[ý ............. c÷ã[ý
(a) 176 (b) 178 (c) 180 (d) 200

73. A student has to secure 40% marks to pass. He got 40 marks and failed by 40 marks. The
maximum number of marks is ....................
ALX $K÷çy+ Yç$K÷ Eõ×»[ýê_ 40% X¶‘ö» Yç[ý _çãG, $K÷çyLãX 40 X¶‘ö» Yç+ 40 X¶‘ö»» [ýçã[ý åZõ+_ Eõ×»ã_* aã[ýïç¬Jô X¶‘ö» éc÷ä$K÷
................................
AEõLX »K÷çäyÌ[ý YÌ[ýÝlùçÌ^ Yç` EõÌ[ýçÌ[ý LXî 40% X¶‘öÌ[ý _çãG, »K÷çyLãX 40 X¶‘öÌ[ý åYãÌ̂  40 X¶‘öãÌ[ýÌ[ý LXî åZõ_ Eõ×Ì[ý_* ×[ýbÌ^×»OôÌ[ý
aã[ýïç¬Jô X¶‘öÌ[ý c÷_ ....................................
(a) 400 (b) 300 (c) 200 (d) 100

74. The point equidistant from the vertices of a triangle is its ....................
×Åy\ÉöL» [ýç§ åEõ+$Oôç» Y»ç a]VÉ»±¼öTö UEõç ×[ý³VÇä$OôçEõ ........................... å[ýçã_*
×Åy\ÇöãLÌ[ý [ýç§EõÌ̂ ×»Oô åUãEõ a]VÉÌ[ýã±¼ö UçEõç ×[ý³VÇ×»OôãEõ .................................. [ýã_*
(a) orthocenter (b) centroid (c) circumcenter (d) incenter

Yç×VEõãEõ³VÐ \ö»åEõ³VÐ / \ö Ì[ýåEõ³VÐ Y×»ãEõ³VÐ / Y× Ì[ýãEõ³VÐ %Ü™öfãEõ³VÐ

75. The smallest possible decimal fraction up to three decimal places is .............
×Tö×X V`×]Eõ ØšöçXê_ %ç$Oôç+TöêEõ a»Ó V`×]Eõ \öGÂçe`ä$Oôç éc÷ä$K÷ ...................................*
×TöX×»Oô V`×]Eõ ØšöçãXÌ[ý a[ý»Jôç+ãTö æ»K÷ç»Oô V`×]Eõ \öGÂçe`×»Oô c÷+_ ............................*
(a) 0.101 (b) 0.111 (c) 0.001 (d) 0.011

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)

http://www.novapdf.com
http://www.novapdf.com


(12)

General Science / açWýç»S ×[ýpûçX / açWýç»Ì[ýS ×[ýpûçX

76. Anil takes 20 min to travel to his school with a speed of 3 m/s. How far is the school ?
%×Xã_ 3 ×]/ä$K÷. å[ýãGã» •Çõ_ê_ ^çCgãTö a]Ì̂  _çãG 20 ×]×X$Oô* •Çõ_» VÇ»±¼ö ×Eõ]çX ?
%×Xã_Ì[ý 3 ×]/ãa å[ýãG •Çõã_ å^ãTö a]Ì̂  _çãG 20 ×]×X»Oô* •Çõã_Ì[ý VÉÌ[ý±¼ö EõTö ?
(a) 2 km (×Eõ.×].) (b) 3.2 km (×Eõ.×].) (c) 3.6 km (×Eõ.×].) (d) 4.1 km (×Eõ.×].)

77. Radiation depends on ........................
×[ý×Eõ»S ............................. » CY»Tö ×X\öÛ» Eõã»*
×[ý×EõÌ[ýS .................................. AÌ[ý =YÌ[ý ×X\öÛÌ[ý EõãÌ[ý*
(a) the temperature of the substance (b) the colour of the substance

[ýØ™Çöä$Oôç» =‡ûTöç [ýØ™Çöä$Oôç» »e
[ýØ™Çö×»OôÌ[ý =bÕTöç [ýØ™Çö×»OôÌ[ý Ì[ýIø

(c) Both a and b (d) None of these
a %ç»Ó b =\öÌ̂ A$OôçC Xc÷Ì̂
a A[ýe b VÇ×»Oô+ AEõ×»OôC XÌ̂

78. The SI unit of heat is .........................
TöçY» A$K÷. %ç+ AEõEõ ...............................
TöçãYÌ[ý Aa %ç+ AEõEõ ...........................
(a) Calorie (b) Joule (c) Dyne (d) Newton

åEõ_×» / åEõ_×Ì[ý LÇ_ Qöç+X ×X=$OôX

79. The length of the shadow will be the longest when the ......................
[ýØ™Çö A$Oôç» $K÷çg» éVHïî %ç$Oôç+TöêEõ å[ý×$K÷ c÷[ý, å^×TöÌ̂ ç ...........................
AEõ×»Oô [ýØ™ÇöÌ[ý »K÷çÌ̂ çÌ[ý éVHïî a[ý»Jôç+ãTö å[ý`Ý c÷ã[ý, ^FX ........................
(a) angle between the source of light and the object is 450

åYçc÷»» =da %ç»Ó [ýØ™Çöä$Oôç» ]çL» åEõçS 450 c÷[ý
%çã_çÌ[ý =da A[ýe [ýØ™Çö×»OôÌ[ý ]ãWýî aÊrôãEõçS 450 c÷ã[ý

(b) Source of light and the object are parallel to each other
åYçc÷»» =da %ç»Ó [ýØ™Çöä$Oôç Y»&» a]çÜ™ö»ç_ c÷[ý
%çã_çÌ[ý =da A[ýe [ýØ™Çö×»Oô YÌ[ý&Ì[ý a]çÜ™öÌ[ýç_ c÷ã[ý

(c) Source of light and the object are perpendicular to each other
åYçc÷»» =da %ç»Ó [ýØ™Çöä$Oôç Y»&» _¶‘ö c÷[ý
%çã_çÌ[ý =da A[ýe [ýØ™Çö×»Oô YÌ[ý&Ì[ý _¶‘ö c÷Ì̂

(d) Angle between the source of light and the object is 600

åYçc÷»» =da %ç»Ó [ýØ™Çöä$Oôç» ]çL» åEõçS 600 c÷[ý
%çã_çÌ[ý =da[ý A[ýe [ýØ™Çö×»OôÌ[ý ]ãWýî aÊrô åEõçS 600 c÷ã[ý
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80. ................... are used as reflectors in the torchlight
..................... Eõ $Oô$JôÛ_ç+$OôTö YÒ×TöZõ_Eõ ×c÷$JôçãY [ýî¾c÷ç» Eõ»ç c÷Ì̂ *
............................ åEõ »Oô»JôÛ_ç+ä»Oô YÒ×TöZõ_Eõ ×c÷açã[ý [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂ *
(a) Concave mirrors (b) Plane mirrors (c) Convex mirrors (d) None of these

%¾Tö_ VçãYçX a]Tö_ VçãYçX =wø_ VçãYçX A$OôçC Xc÷Ì̂
%[ýTö_ VYïX a]Tö_ VYïX =wø_ VYïX AEõ×»OôC XÌ̂

81. A virtual image is formed by concave mirror when the object is placed ...................
%¾Tö_ VçãYçãX %ad YÒ×Tö×[ý¶‘ö» aÊ×rô Eõ×»[ý å^×TöÌ̂ ç _lùî [ýØ™Çöä$Oôç ................................. Uç×Eõ[ý*
%[ýTö_ VYïX %ad YÒ×Tö×[ýã¶‘öÌ[ý aÊ×rô EõãÌ[ý ̂ FX [ýØ™Çö»×»Oô ........................ UçãEõ*
(a) at the focus (b) between the focus and the centre of curvature

ZõEõç$JôTö ZõEõç$Jô %ç»Ó \öçLãEõ³VÐ» ]çLTö
ZõEõçãa ZõEõça A[ýe \öçLãEõã³VÐÌ[ý ]ãWýî

(c) between the focus and the pole (d) beyond the centre of curvature
ZõEõç$Jô %ç»Ó å]»Ó» ]çLTö \öçLãEõ³VÐ» [ýç×c÷»Tö
ZõEõça A[ýe å]Ì[ýÓÌ[ý ]ãWýî \öçLãEõä³VÐÌ[ý [ýç×c÷ãÌ[ý

82. Which of the following symbols is not used in electric circuit diagrams ?
Tö_» åEõçXä$Oôç YÒTöÝEõ é[ýVÇî×TöEõ [ýwïøSÝ» ×$Jôy %çãEõçgãTö [ýî¾c÷ç» Eõ»ç Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×»Oô é[ýVÇî×TöEõ [ýTöÛXÝÌ[ý »K÷×[ý %çg×EõãTö [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂  Xç ?
(a)  VVVVVVVV (b)

(c) (d)

83. What is the main cause of acid rain ?
A×$JôQö [ý»bÇS» YÒWýçX Eõç»S ×Eõ ?
A×aQö [ýÊ×rôÌ[ý YÒWýçX EõçÌ[ýS ...........................*
(a) Pollution (b) Deforestation (c) Afforestation (d) Excessive rains

YÒVÉbS ×X[ýïSçXÝEõ»S [ýSçXÝEõ»S %×WýEõ [ý»bÇS
YÒVÉbS ×X[ýïSçXÝEõÌ[ýS [ýSçXÝEõÌ[ýS %Töîç×WýEõ [ýÊ×rô

84. Each cell of our body contains this. It is also present in proteins and fat. What is it ?
%ç]ç» åVc÷» YÒ×Töä$Oôç åEõçbTö A$Oôç [ýØ™Çö %çä$K÷ ×^ä$Oôç YÒ×$OôX %ç»Ó $Jô[ýÞåTöç %çä$K÷ åa+ [ýØ™Çöä$Oôç ×Eõ ?
]çX[ýãVãc÷Ì[ý YÒ×Tö×»Oô åEõçãb .................................... [ýØ™Çö %çä»K÷ ^çc÷ç %ç]çãVÌ[ý YÒ×»OôX C »Jô×[ýïãTöC %çä»K÷*
(a) Acid (b) Base (c) Salt (d) None of these

A×$JôQö / A×aQö lùç» / lùçÌ[ý _¾X / _[ýX A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

85. The metal which can displace zinc from its solution is ..................
......................... WýçTÇöã¾ ×LeEõEõ +Ì̂ ç» VÐ¾» Y»ç %Yaç×»Tö Eõ×»[ý Yçã»*
............................... WýçTÇö ×LáøãEõ +c÷çÌ[ý VÐã[ýÌ[ý åUãEõ %Yaç×Ì[ýTö EõÌ[ýãTö YçãÌ[ý*
(a) Mg (b) Fe (c) Pb (d) Cu
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86. During the takeoff of an aeroplane there is a ............ pressure on the top and a ....................

pressure below.
=»çLçc÷çL AFX =»ç ]»ç» a]Ì̂ Tö +Ì̂ ç» =Y» %e`Tö ............................ $JôçY %ç»Ó ×XX½çe`Tö ............................. $JôçY» aÊ×rô c÷Ì̂ *
AãÌ[ýçäYÀX =YãÌ[ý =QÍöçÌ[ý a]Ì̂  +c÷çÌ[ý =YãÌ[ýÌ[ý %eã` .......................... »JôçY A[ýe ×X¶oöçeã` ........................... »JôçãYÌ[ý aÊ×rô c÷Ì̂ *
(a) low, low (b) low, high (c) high, high (d) high, low

×X¶oö, ×X¶oö, ×X¶oö, =¬Jô =¬Jô, =¬Jô =¬Jô, ×X¶oö

87. Which of the following is a balanced equation ?
Tö_» åEõçXä$Oôç a]TÇö_î a×]Eõ»S ?
XÝä»JôÌ[ý åEõçX×»Oô a]TÇö_î a]ÝEõÌ[ýS ?
(a) H

2 
+ 2O

2        2H
2
O (b) 2H

2
O

 
+ O

2        H
2
O

(c) H
2 
+ O

2       
   H

2
O (d) 2H

2 
+ O

2       
   2H

2
O

88. Which of the following is not soluble in water ?
Tö_» åEõçXä$Oôç YçXÝTö VÐ¾Ý\ÉöTö Xc÷Ì̂  ?
.................... Lã_ VÐ[ýÝ\ÉöTö c÷Ì̂  Xç*
(a) Salt (b) Sugar (c) Oxygen (d) None of these

_¾X / _[ýX æ$JôXÝ / ×Jô×X %×jãLX A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

89. Leaves are green due to the presence of a green coloured pigment called chlorophyll. The
main function of chlorophyll is ......................
YçTöTö Yy c÷×»d Xç]» A×[ýWý åa=LÝÌ^ç »tEõ YVçUï UEõç» [ýçã[ý YçTö» »e åa=LÝÌ^ç c÷Ì^* A+ Yy c÷×»d» ]ÉFî Eõç ï̂ éc÷ä$K÷ ................
Yyc÷×Ì[ýãTöÌ[ý LXî YçTöçÌ[ý Ì[ýe a[ýÇL c÷Ì̂ * A+ Yyc÷×Ì[ýãTöÌ[ý ]ÇFî Eõç ï̂ ...................................*
(a) to absorb carbon dioxide from the atmosphere

[ýçÌ̂ Ç]‰ø_» Y»ç Eõç[ýïX Qöç+-%jç+Qö å`çbS Eõ»ç
[ýçÌ̂ Ç]‰ø_ åUãEõ Eõç[ýïX-Qöç+-%jç+Qö å`çbS EõÌ[ýç

(b) to absorb water and minerals from the soil
]ç×$Oô» Y»ç YçXÝ %ç»Ó F×XL _¾X å`çbS Eõ»ç
]ç×»Oô åUãEõ L_ A[ýe F×XL _[ýX å`çbX EõÌ[ýç

(c) to give greenish colour to the leaves
YçTö» »e åa=LÝÌ̂ ç Eõ»ç
YçTöçÌ[ý Ì[ýe a[ýÇL EõÌ[ýç

(d) to perform photosynthesis in the presence of sunlight
aÉ̂ ïî» åYçc÷»» =Y×Øšö×TöTö açã_çEõ aeä`ÀbS Eõ»ç
aÉ̂ ïîçã_çãEõÌ[ý =Y×Øšö×TöãTö açã_çEõ aeä`ÀbS EõÌ[ýç

90. Large intestine absorbs ....................
[ýÊc÷VçÜ™ö+ ............................ å`çbS Eõã Ì[ý*
[ýÊc÷VçÜ™ö .................................. å`çbS EõãÌ[ý*
(a) digested food (b) undigested food (c) water            (d) remaining enzymes

Yç$JôX åc÷ç¾ç FçVî Yç$JôX åXçãc÷ç¾ç FçVî YçXÝ %¾×`rô =dåa$JôEõ×F×X
Yç»JôX c÷CÌ̂ ç FçVî Yç»JôX Xç c÷CÌ̂ ç FçVî L_ %[ý×`rô =dåa»JôEõmã_ç
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91. Which of the following part is modified into pitcher in the pitcher plant ?
Eõ_$JôÝ =×àöV» åEõçXä$Oôç %e` Eõ_c÷ê_ »ÖYçÜ™ö» c÷Ì̂  ?
Eõ_×a =×àöãVÌ[ý åEõçX %e` Eõ_ãa Ì[ýÖYçÜ™öÌ[ý c÷Ì̂  ?
(a) Leaf (b) Stem (c) Nodes (d) Root

YçTö / YçTöç Eõç‰ø Gç×Pö / Y[ýï ×`Yç / ]É_

92. ........................ wool is common in Ladak and Tibet.
...................................... » >X açWýç»SãTö _çQöçF %ç»Ó ×Tö[[ýTöTö åYç¾ç ̂ çÌ̂ *
...................... AÌ[ý >_ açWýçÌ[ýSTö _çQöçF A[ýe ×Tö[[ýãTö YçCÌ̂  ̂ çÌ̂ *
(a) Sheep (b) Goat (c) Yak (d) Camel

å\öQÍöç $$K÷çG_Ý / K÷çG_ Ì̂ çEõ / ×Tö[[ýTöÝ GÌ[ýÓ =$Oô

93. The scaly skin of snakes .....................
açY» [ýçEõ×_ Ç̂Nþ $K÷ç_» [ýçã[ý ......................*
açãYÌ[ý %çgã` »RôçEõç »Jôç]QÍöçÌ[ý LXî ...........*
(a) protects them from drying (b) scares human beings

+Ì̂ ç» åVc÷ £Eõç+ Xç^çÌ̂ ]çXÇãc÷ +Ì̂ çEõ \öÌ̂  Eõã»
+c÷çÌ[ý åVc÷ £EõçÌ̂  Xç ]çXÇb +c÷çãEõ \öÌ̂  EõãÌ[ý

(c) makes them beautiful (d) helps them to crawl
åVFçTö WýÇXÝÌ̂ ç c÷Ì̂ $JÇô$Jô×» å^ç¾çTö ac÷çÌ̂ Eõ c÷Ì̂
+c÷çãEõ aÇ³VÌ[ý åVFçÌ̂ +c÷çãEõ [ýÇãEõ c÷ç×»OôÌ̂ ç »Jô_ãTö açc÷ç^î EõãÌ[ý

94. Fungi and bacteria grow mostly in ....................
å\öEgÇõ» %ç»Ó å[ýãkô×»Ì̂ ç açWýç»SãTö ........................ =dY~ c÷Ì̂ *
»K÷yçEõ A[ýe [ýîçãkô×Ì[ýÌ̂ ç açWýçÌ[ýSTö ........................... =dY~ c÷Ì̂ *
(a) sand (b) topsoil (c) bedrock (d) All of these

[ýç×_Tö `Ýbï ]Ê×wøEõçTö é`_-aeØ™ö»Tö %ç$Oôç+ãEõ+$Oôç
[ýç×_ãTö `Ýbï ]Ê×wøEõçÌ̂ é`_-aeØ™öãÌ[ý a[ýEõÌ^×»Oô

95. Anaerobic respiration is also termed as ...............
%[ýçTö ̀ ŸaXEõ ........................ [ýÇ×_C LXç ̂ çÌ̂ *
%[ýçTö ̀ ŸaXãEõ ............................................. [ý_ç c÷Ì̂ *
(a) fermentation (b) transpiration (c) transportation (d) All of these

×Eõ¶‘öX YÒãØ‘öVX Y×»[ýc÷X / Y×Ì[ý[ýc÷X %ç$Oôç+ãEõ+$Oôç / a[ýEõÌ̂ ×»Oô

96. Which of these have lungs ?
Tö_» åEõçXä$Oôç» c÷çCgZõçCg %çä$K÷ ?
XÝä»JôÌ[ý åEõçX YÒçSÝÌ[ý ZÇõaZÇõa %çä»K÷ ?
(a) Cockroaches (b) Earth worms (c) Star fishes (d) Rabbits

Y+Töçä$Jôç»ç åEõ$JgÇô Tö»ç ]ç$K÷ `c÷ç Y§
%çÌ[ýã`ç_ç åEgõä»Jôç TöçÌ[ýç]ç»K÷ FÌ[ýãGç`
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97. Which of the following is used as artificial kidney in patients with kidney failure ?
[ýÊhõ ×[ýEõ_ åc÷ç¾ç å»çGÝ» ålùyTö Tö_» åEõçXä$Oôç EÊõ×Åy] [ýÊhõ ×c÷$JôçãY [ýî¾c÷ç» Eõ»ç c÷Ì̂  ?
×EõQö×X ×[ýEõ_ c÷CÌ̂ ç åÌ[ýçGÝÌ[ý ålùäy XÝä»JôÌ[ý åEõçX×»Oô EÊõ×Åy] ×EõQö×X ×c÷açã[ý [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂  ?
(a) Filter (b) Angiogram (c) Dialysis (d) Ventilation

×Zõ·Oôç» AX×L%'GÐç] QöçÌ̂ ç_çÌ̂ ×$Jô$Jô å\ö×³Oôã_$JôX
×Zõ·OôçÌ[ý AX×LCGÐç] QöçÌ̂ çã_×aa å\ö×³Oôã_`X

98. Blood from the left ventricle is pumped to ...................
[ýçgC ×X_Ì̂ » Y»ç åTöL×F×X ................................ é_ ̂ çÌ̂ *
[ýç] ×X_Ì̂  åUãEõ Ì[ýNþ .............................. A ̂ çÌ̂ *
(a) lungs (b) left auricle (c) right ventricle (d) all parts of the body

c÷çCg-ZõçCg [ýgçC %×_³V åaç ×X_Ì̂ åVc÷» aEõã_ç %eG
ZÇõaZÇõa [ýç] %×_³V QöçX ×X_Ì̂ åVãc÷Ì[ý aEõ_ %eG

99. Which of the following is a complete flower ?
Tö_» åEõçXä$Oôç a¶YÉSï ZÇõ_ ?
XÝä»JôÌ[ý åEõçX×»Oô AEõ×»Oô a¶YÉSï ZÇõ_ ?
(a) Hibiscus (b) Papaya (c) Bittergourd     (d) Cucumber

L[ýçZÇõ_ %×]Töç / åYãY ×TöTöç åEõã»_ç / ×TöTöç EõÌ[ý_ç ×TöÌ̂ gc÷ / ``ç

100. In an ecosystem, the population of ..................
A$Oôç Y×»×Øšö×Tö TöÜ—öTö ..........................................*
AEõ×»Oô Y×Ì[ý×ØšöTö TöãÜ—ö .........................*
(a) secondary consumers is large (b) primary consumers is large

×¥TöÝÌ̂  æ`ÒSÝ» \ölùEõ» aeFîç %×WýEõ YÒU] å`ÒSÝ» \ölùEõ» aeFîç %×WýEõ
×¥»TöÝÌ̂  æ`ÒSÝÌ[ý \ölùãEõÌ[ý aeFîç %×WýEõ YÒU] æ`ÒSÝÌ[ý \ölùãEõÌ[ý aeFîç %×WýEõ

(c) producers is larges than the consumers (d) decomposers is large
=dYçVEõ» aeFîç \ölùEõ» aeFîçTöêEõ å[ý×$K÷ ×[ýãÌ̂ çLEõ» aeFîç %×WýEõ
=dYçVãEõÌ[ý aeFîç \ölùãEõÌ[ý aeFîç »Jôç+ãTö %×WýEõ ×[ýãÌ̂ çLãEõÌ[ý aeFîç %×WýEõ
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